Analysis 3  (Solution)
Read this page carefully before proceeding.  
Directions:  Use the template to construct rationales on the next three pages exactly as we have been doing in class.  No handwritten rationales will be accepted.  This documented is formatted in the landscape position.  
Each of the examples contains one rationale, either an argument or an explanation.  Identify it as such and fully reconstruct it employing instances where necessary, and identifying al reasons. 
Type your name in an unused textbox and drag it to the upper right hand corner of the first page. Please eliminate all unused objects (textboxes, arrows, etc.) from your completed rationales, as well as the original reasoning, before turning in this assignment.  Do not turn in this page.

Each rationale is worth 3pts.  You get 1 pt. for following all of these instructions correctly.
To insure success, put all your completed rationales through the following 10-point test.
1. Are your arguments really attempts to convince the reader that the conclusion is true?  Ask an argument question to be sure. 
2. Do any explanations have value judgments as conclusions?  If so, they are wrong!

3. Are the conclusions of your explanations really presented by the author as accepted facts?  Ask an explanation question to be sure.
4. Do the reasons and conclusions contain simple, grammatically correct statements?

5. Do the reasons and conclusions make sense by themselves?

6. Do the principles connect properly to the rationales?

7. Are the principles sufficiently general?

8. Do the principles make sense by themselves? Are you sure? Read them all by themselves.

9. Does your rationale contain two or more specific reasons that could be converted into instances of a more general reason?

10. Are all of your instances clearly examples of the reason or conclusion they support?  

1. People who drink diet sodas are more likely to gain weight as a result because they tend to take in more total calories than they would otherwise.  That’s not because of hidden calories in diet soda.  Rather, it’s because people, believing that diet soda substantially reduces their caloric intake, compensate by treating themselves to food that contains more calories than their diet soda drinks subtract. 






2.   The Catholic Church continues to discourage condom use as sinful.  But I think discouraging condom use is the real sin.  By doing so the church exacerbates all sorts of environmental and health problems, from the spread of AIDS and cancer-causing HPV virus to environmental degradation from overpopulation.  Condoms don’t promote promiscuity like the church claims.  They just keep promiscuous people from killing the rest of us.















3.  Despite its current popularity with environmentalists, ethanol is not a good substitute for gasoline.  It burns dirtier, and provides about 1/3 less energy than petroleum.  Massive conversion to ethanol burning vehicles could also produce wide-scale starvation.  That’s because ethanol is currently produced from corn.  If our cars start eating it, then rising demand cause one of the world’s cheapest food sources to be depleted.












P1,P2:  If action x does harm and does not reduce evils of concern, then x should not be performed.


P3:  If x contributes to overpopulation, then s contributes to environmental degradation.


P4: 


P5:


P6:


P7:


P8:


P9:


P10:


P11:


P12:








P1:  If person x increases net caloric intake then x gains weight.


P2:  If person x does not believe that doing x will contribute to undesirable y, then x does y.


P3:  If person x believes that action y reduces z more than action w increases z, then x who does y and w does not expect z to occur. 


P4:


P5:


P6:


P7:


P8:


P9:


P10:


P11:


P12:








P1:  If x does more harm to z than y, then x is not a good substitute for y.


P2:  If x performs less well than y, then x is not a good substitute for y. 


P3:  If x does more harm to z than y, then x is not a good substitute for y.


P4: 


P5:


P6:


P7:


P8:


P9:


P10:


P11:


P12:








People who consume diet sodas gain weight. 





People who consume D.S. eat more caloric food than otherwise.





People who consume D.S. do not expect eating more food to contribute to increase net caloric intake. 





People who consume D.S. believe that D.S. reduce their caloric intake more than extra food increases it. 





The Catholic Church should not discourage condom usage. 





The C.C. does serious harm by discouraging condom use. 





Discouraging condom use does not reduce evils that concern C.C.





Discouraging condom use contributes to the spread of disease 





Discouraging condom use contributes to environmental degradation.





AIDS, HPV





Discouraging condom use contributes to overpopulation. 





Promiscuity.





Ethanol is not a good substitute for gasoline.





Ethanol does more harm to the environment than gasoline.





Ethanol is an inferior fuel to gasoline.





Massive conversion to ethanol will harm people more than gasoline does.





Ethanol causes more air pollution than gasoline.





Ethanol provides 1/3 less energy than gasoline.





Massive conversion to 


ethanol will severely deplete a primary food source. 





Corn.








